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IRTEETE AR, Bt
(a+b)(a—0b) =a?-b2

Rit¥k, a*—b%= (a+b)(a-b)REARNSEL? Z£( )

RERAE.
Z: a*=b*=(a+b)(a-b) C ) EXE.
Hratsk, RRXNSBOEYV, FNEREX.

(1) am+bm+c=m(a+b) +c ( )s
(2) x(a-b) =ax-bx ( )s
(3) ax-bx=x(a—b) C .
HIgTRT 4, RERENEYV, NEHE X:

(1) (x+1)(x-1)=%x2-1 ) s
(2) ¥*-1=(+D(x-1) ( )

(3) x2-1+y2=(x+1)(x—-1) +»* (
EZETIHEMIE@RSIET, ABMERAR:
(1) HAaMEAENaEe

(2) AR ELMETREFHARR?
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5. E=.

(1) 2 =y2=(x-y)( )s

(2) 4x*=1=(2x-1)( )s

(3) x+2xy+y2=( )%

(4) a* —4ab+4b%=( ¥y

(5) x¥+y%=( Y(x?—xy+y*);
(6) a®=b%=(a—-b)( )s

(7)) ¥*+3x+2=(x+1)( )s
(8) x2-3x+2=(x-1)( Ye
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(EE: AXo@ENEEmE.)
1. Hrxés, RERXSFHAIEYV, AE2NE X,
(1) 8m—-8=8(m—1)( )s
(2) 8m—8=8maE8(m—0)( Do
2. ETIAEXSEEN:
(1) ac+be

(2) 7a+7b

(3)9t-9

3. THRKGWHE—IHr HHEYV, HHEXS:

(1) —5xy+5x=5x(—-y+1)( )3
(2) -5xy+5x=-5x(y—1)( )s
(3) =5xy+5x=—-5x(y+1)( Ye



4. E|TFIESEER.
(1) -mx+my

(2) -6x-6y

(3) -pa+ga-ra

5. ETHAERSERR:
(1) 6ir+6t

(2) 4xy +4xz- 4%

(3) —9ma—-9mb +9me

(4) -15xy —-15xz—15%

8. ETIHIERREER:
(1) x2+42x%y

(2) -3e®+3a%h

(3) -2m*p-2gm?

7. HE=.

(1) x*+5x+6=(x+2)( )s
(2) 22 -5x+6=(x-2)( )s
(3) x*-x-6=( Y(x+2);

(4) x*+x-6=(x-2) )3



(5) ¥2-5x—-6=(x+1)( Ds

(6) x2+5x—-6=( Y(x+6);
(7)) x24+7%x+6=(x+6)( );
(8) x2-7x+6=(x—-6)( J.
% 3 =
1. THERS R, 2 BZHE V, B EEHNE X
(1) 4m® —2m=2(3m* - m)( )s
(2) 4m? —2m=m(dm —2)( s
(8) 4m?® —2m=2m{2m —1)( )e

2. EFIEXMRER.

(1) x*+x

(2) 8a® —38a?

(3) 5x*+10%
(4) 6n® —9n?

3. TTIEXSHER:
(1) 27a%b* +18a25®

{2) 19x*y® —38x7 y*

(3) 51a®b%c* +17a*b%c®

(4) —-52abx*y* +35a%b%x%y
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ETFAERIMEER:
(1) 6a*b?+12a%b?

(2) 4a*b+6a®b—10a%b?

(3) —-16x* -16x% —16x2

T &N ERN:
(1) -14a*#® -7a*s?

(2) x°—3x*+2x2

(3) —15x%9p2 +10x%y —20x2y?

BTFAERNMERRX:
(1) 5x%-15xy +20y>

(2) a"-a"*!

ETFEXREX.

(1) m*+3m®-—m?p

(2) —-16m®n—35m%n® +20mn



(3) g"*! —gn*?

5. HZ:
(1) a*"t+a"*l=gq""1( )s
(2) 9x*-6xy+y*= )%
(3) 16x* +8xy+y2=( )%
(4) 25a® -16b% = (5a - 4b)( %
(5) x3+1=(x+1)( )s
(6)1-x3=(Q-x)( ).
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1. DXT@ngTEf’ERﬁA\M”)
(1) ax+FAPEE ( T
(2) x-x(@+ALIFE ( ) T
(3) (m-m)(x- MEPEE ( ) WX
(4) a(x+¥)=b(x+ ) +c(x+ MNP F EC )
.
2. EIETIEXNTLIEFELIAGEZS).:
(1) a(3% -4y) +b(3x—43) A DE #E( VI s
(2) 4(m—-6m)Um—- 9T PEME ) TR;
(3) (x-y)(x*+xy+y?)+xy(x-y) T DL E
( YR
(4) (x+y)2=-2(x+y)- 3 A IEEC ) T
(5) 2Q2x+ y)Ux* - 2xy + y*) - Q2% + YIE] LI {E
«  HHmk.



% 3 K
1. ETFIERMEAR:
(1) x(a+b)+y(a+b)
(2) a(m+n)-b(m+n)
(3) x2(a-b)+x(a-b)

(4) m(m+2)-m*(m+ 2)

2. ETINERNPEEX:
(1) 8x(m+n)—16y(m+n)

(2) -x(a+b)—y(a+b)
(3) —a(x—-y)+b(x~-y)

(4) (a+b)*-(a+b)

g 3 t

1. #ETHERIMBAR:
(1) x(x+ M -y)-y(x+y)(x—y)

(2) x(a+b)Y(m-n)—(a+b)



(3) 6p(x—-1)2-8p*(x—1)

(4) -20c(a—2b>” —25@—2b)*

2. WTFHNEXDEHEKX .
(1) 24p9%(a+0b%) +30p%q(a+b%)

(2) (p+D+a*(p+q(m—n)

(3) 2Q@x+y)(Ux:-2xy+y¥) = (Cx + y)

(4) (m+n)(p+)—(m+n)(p—-q

3. HEETEASEGEROTTOIRNESD:

(1)xytHREZE s —x+ yREREE
s —x+y=-1C )y (a+b)E@(@-HREL
AR A ? .

(2) EHMERKRESZ___B AMNTREE ___
5 HBWWBRER .

(3) 1 HERRERET ___; 1 TR s
-1H__ RESET-1:-10__ RFET1.
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THERSBEB — e FpEV, ENE X,

(1) m*e—-2)+m@2-a)=(a—2)(m*-m).(C )3

(2) m*(a=-2)+m2-a)=m(a—-2)(m+1).( )3

(3)y m*(@-2)+m2-a)=m?>(@-2)+m (—a+2)
=m*(a-2)-m(a-2)=m@-2)(m-1).( ).

BT FEXMERER:

(1) alm—-n) +b(n—m)

(2) m{e—d)-n(d-c)
(3) 2m(x—-3) +(3—x)

BT L NEER.
(1) a(x—a) —b(x—-a) +c(a—x%)

(2) m*(e-b) +m(b—-a)

ETEX2EER.

(1) 4y*(m-1)-2y(Q —-m)

(2) a(a-b-c)+b(b—-a+c) +c(c-a+b)
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1. ETFALXIBRER:
(1) a(x-3)2-(y—-x)*

(2) (a+b)(x—-y)-(a-b)(y-x)

(3) 10a(x~ y)?-5b(y—-x)*

2. EFFIERNSMERR.
(1) 5(x-3)*-10(y-x)?

(2) 4m(a-b)2 +2(b-a)?

(3) alc—-d)(m—-n)-(c-d)(n-m)

3 m -

TLTAEXPRER.
1. (1)-8a%b* -4a?b®
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2.

(2) 27m%n—36mn® —18mn

(3 ) an+l _am+2

(1) m(m+n)(m-n)—=n(m+n)(m-n)

(2) m(m+2)-m2*(m+2)(m+1)

(3) 2Qx+y)Ux* - 22y + y2) - (2% + ¥)

(4) 12p%(a—-2)+36p(2—-a)

(1) 6p(x-1)%-9p(1 -x)?

(2) (p+9)(a-b)-(p-9)(b-a)
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(3)aa-b-c)+b(c—a+b)+c(b-a+c)
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1. SMEER.
(1) (a-3)(a®-2)-(3-a)(a®-1) +2(3-a);
(2) (a=b)2(a+b)®—(b-a)2(b+a)?;
(3) 2(x-y)(a—2b+3¢c)—3(x+y)(2b—a—3c);
(4) 2a(x+y—-2)-3b(z-x—y);
(5) 4x"*2+20x";
(6) 15x%"*8 —25x"*!
2. BERBARREUHETIISME:
(1) 201%X273-201%X73;
(2) 989x95+5x%X989;
(3) 49Xx139+51x139;
(4) 24.4X8+45.6%8;
n/> '
N
(5) 7x999-9 +7(AREIBEBHITELER);
(6) BESG—TMEARABXERL=ENE.
3. HELTIMERBLER>® 52K/, FHMRUFRA:
(1) x>1; (2) x=1; (3) 1>x>0;
(4) x=0; (5) x<0.
4.5 R AR

(1) (Bx-2y)%+2x+5y)% -



5.

(2) (x=-3y)+(2x+y):+2xy;

(3) (ax+2y)2 +(2x—ay)?;

(4) Bx-by)? +(bx+3y)*.

it PR R LB x* SxfyRa, H NI,
(1) x>1; (2) x=1;  (3) 1>x>0;
(4) x=0; (5) %<0,

BIER ME B 5 £ 6e 8 4 B,

s 3 +

HETFIERE (MEKIE, A#MEFRA):
(1) AR5 #E?

(2) B EELIRNTEFHLER?

HETFHE K2 EER,
(1) m?—-n?
(2) pd+g®
(3) x%-y°3

C4) ¢®+2cd +d?

(5) m® - 9mn +n?
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4.

2 e
Bx

(1) 27x%= (

(3) 16a*b®= (
(5) 4(a+b)2=C (
(6) 9(a-b)*=10(

%

)8

)%
) (
D14

3 +

(2) 64a®= (
(4) 1258°86% = (
)J%;
)%,

THEXG BHE— 3t MEY, HEHIE X,

(1) c*-38d>=(c+35

ETESREABYNETR (R EED:
fFidn, 225a'°=(15a%)*

(1) Sat=C Y (2) o= ¢
(3) 12ix%=C )% (4) 0.64y2=(
(5) 144a*6* =( )% (6) 169x*y°® =

(2) c* -36d> =c® — (6d)?
=(c+6d)(c-6d) (s

(3) ¢*-36d%=(c—

6d)*

ETFRERSBER:
(1) x%2-16y2=x"
(2) 4m® -9n%=(2m)% - (3a)% =

(3) 16x*-25y% =

d)(e—-36d) ( )s

( ).

-y =

)3
)3

) 2%
)25
)E,

Tﬁﬁgn HEARG® -b2=(a+b)(a-b)RFETIENEE
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BERIE R ZAR AR, mRESEREC

'5“*” mBREERS A

(1) x%+y2
(2) —-x*+y*
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(3) _xz_yz
ETFRERS EER,
(1) 16-¢*

(2) p*-9
ETFIE R BAR:
(1) 49p*-144¢°

s 81
(2) 25x°* - 100

(3) 9a*b%-64

T 5IE N RER,
(1) 16a*x* -9b*

(2) 4x° -81
(3) x*-16y°
(4) —-a*+4

ETFIERD BE
(1) a?b*-c?d*

16, 121

2
25"~ 144®

(2)

de
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(3) ~36x*+25

& 3 + =
ETIESREAE S ATR:

(1) 64a®=¢( )% (2)125n% =( )3
(3) 0.008y° = )% (4)27x%y°=(C B,
THIWRARNS BB ETHI? HHE ( ) AEYV,

FERE X .
(1) 8c®+27d®=(8c+27d)(64c* —216¢cd +625d%)
( )3
(2) 8c3+27d® =(2c)°% +(3d)?
=(2¢c +3d)(4c? +6cd +0d?) ( )3
(3) 8c®+27d®=(2¢)® + (3d)*®
=(2¢c+3d)(4c* —6cd +9d?) ( D,

TIIRKXD BB — e WHEC  OREV, &
FITE X .

1 s _1 o_(1 s_(l_ )8
(1) g7m® —gp? ‘(3”’) "
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S\3™ Tt g™ 12™ T 16
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